wme_ ANSWErS = Studonts mMuak Show work + geomehy
Rectangles, Rhombi, and Squares HW & Juotfy

ALGEBRA RSTU is a rectangle,
LIFUZ = x + 21 and Z8 = 8x — 18, find US. 2. IfRZ = 3x + Band ZS = 6x — 28, find UZ.
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3 IRT = fix + 8and RZ = 4x ¢ 1, find ZT. 4 U mzsSUT = 3x + 6 and mz RUS = 5x ~ 4, find ms SUT.
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<2+ 9and m2ZUTR = 2x + 44, find x. B msRSU = 22 ~ 1 and meTUS = 3¢ + 9, find m s RSU.
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Rhombi/Squares

Use rhombus DELM with AM = 45, AK = 510 — 3, and Dyall
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DL =10, <STN = 30 and <RVT =120 >d

1. Find x. x = 3 ; 6

2 Find ALS 5 Mi/ f\";_
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4. Find D.M.(h'm\-\gqmageum wnm Ofter Finding AM
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Use rhombus RSTV withfRS = 6y + 2, ST = 3y + 6, and B i 7
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Rhombi/Squares Continued
Use rhombus PRYZ with RK = 4y + 1, ZK = 7y — 14, ¥
PK = 3x = 1, and YK = 2v + 6. Js 5 qxv
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1. Findpy, FiNA X 18 f
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2. Ihnd RZ. VBT
X271, pyzHO R.2c 42 P~

3. Find RY. V8¢ P'ﬁ*h . TAm 4. Find ms YKZ. = q@.
Use rhombus MANPQ with PQ = 3V2, PA = IR~ 1, and e
AM =9y ~ 6. NQ=6 /ii ;
5. Find AQ. = 3 6. Find m 2 APQ. N,
=495
7. Find m 2 MNP. S 0" 8. Find PM. & \@

On graph paper, show all work and follow all instructions. Failure to show work on graph paper will result in
a zero.

9. Determine whether the figure with vertices F(-4,-3),G(3,-1), H(2,3) and J(-5,1) is a rectangle. /\/0 oo e s
10. Determine whether the figure with vertices F(-4,-3),G(-5,8), H(6,9) and J(7,-2) is a rectangle. NO ...
11. Determine whether the figure with vertices E(-2,-1), F(-4,3), G(1,5) H(3,1) is a rhombus. ‘/Q,% i
12. Determine whether the figure with vertices W(1,10), F(-4,0), Y(1,7) Z(-4,7) is a rhombus. NO s S

13. Determine whether the figure with vertices A(0,3), B(-3,0), C(0,-3), and D(3,0) is a square. “cs cees

14. Determine whether the figure with vertices A(-4,0), B(-3,3), C(2,2), and D(1,-1) is a square. N - IO



